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Quiz 8
1. Ledbetter Life Insurance Company is completing a mortality study on a 3 year term insurance policy.  The following data is available:

	Life
	Date of Entry
	Date of Exit
	Reason for Exit

	1
	0
	0.2
	Lapse

	2
	0
	0.3
	Death

	3
	0
	0.4
	Lapse

	4
	0
	0.5
	Death

	5
	0
	0.5
	Death

	6
	0
	0.5
	Lapse

	7
	0
	1.0
	Death

	8
	0
	3.0
	Expiry of Policy

	9
	0
	3.0
	Expiry of Policy

	10
	0
	3.0
	Expiry of Policy

	11
	0
	3.0
	Expiry of Policy

	12
	0
	3.0
	Expiry of Policy

	13
	0
	3.0
	Expiry of Policy

	14
	0
	3.0
	Expiry of Policy

	15
	0
	3.0
	Expiry of Policy

	16
	0.5
	2.0
	Lapse

	17
	0.5
	1.0
	Death

	18
	1.0
	3.0
	Expiry of Policy

	19
	1.0
	3.0
	Expiry of Policy

	20
	2.0
	2.5
	Death


Calculate S20(1.0) using the Nelson-Ǻalen estimate where death is the decrement of interest.

    2.
Ledbetter Life Insurance Company is completing a mortality study on a 3 year term insurance policy.  The following data is available:

	Life
	Date of Entry
	Date of Exit
	Reason for Exit

	1
	0
	0.2
	Lapse

	2
	0
	0.3
	Death

	3
	0
	0.4
	Lapse

	4
	0
	0.5
	Death

	5
	0
	0.5
	Death

	6
	0
	0.5
	Lapse

	7
	0
	1.0
	Death

	8
	0
	3.0
	Expiry of Policy

	9
	0
	3.0
	Expiry of Policy

	10
	0
	3.0
	Expiry of Policy

	11
	0
	3.0
	Expiry of Policy

	12
	0
	3.0
	Expiry of Policy

	13
	0
	3.0
	Expiry of Policy

	14
	0
	3.0
	Expiry of Policy

	15
	0
	3.0
	Expiry of Policy

	16
	0.5
	2.0
	Lapse

	17
	0.5
	1.0
	Death

	18
	1.0
	3.0
	Expiry of Policy

	19
	1.0
	3.0
	Expiry of Policy

	20
	2.0
	2.5
	Death


Calculate S20(2.0) using the Kaplan-Meier Product Limit estimator where death is the decrement of interest.
